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CHILD DEVEL opmeNT AND PEDAGOGY / aTe frsra a fnamenr<

‘ ( i most appropriate optiong
pireation : Antoer fhe Jollowing questions (Q. Nos 1 to 30) by selecting the correct/ /
prter : Pt wﬁ(?-m1ﬁan)$mﬁ%fmm/mﬁmaaﬁwaﬁw
o \(’:’;‘hll;\:‘:“{h“ f““‘-"Wing correctly describes intrinsic motivation ?
2) Mm-i\'vi\h_nn that comes from porsnna‘l enjoyment of the task
(3) mwm. omes from competition with others
(4) nﬁ\,ﬁ from a fear of punishment
from external rewards

ﬁﬁ’lm&maﬁﬁmﬂwnﬂmﬁ?m%?
(1) W‘ﬁmﬂgﬁ A i
55" o ﬁm-%mﬁﬂﬂa—wﬁﬁﬁﬁ%

f\hm\ that comes

In Lawrence Kohlberg’s moral development theory children move fron
understandj

ing consequences of acts to determine whether they are good or bgag

anding that rules and laws are flexible and can be changed.
Lawrence Kohlberg argues that moral development occurs progressively in stages
a 00se the correct option :

(2) Both (A) and (R) are true but (R) is not the correct explanation of (A).
) Ry e (R) is false.

Both (A) and (R) are false, _
( Both (A) and (R) are true and (R) is the correct explanation of (A).
(A) : mmﬁ%mﬁmmﬁﬁwﬁaﬁmmﬁmmmm
Wﬁ,wmmqﬁ%fmﬁmaﬂxwm%mmmm%x
FT (R) : mmmﬁ%wmmmmﬁwﬁ@m%\
(1) (A)aﬂt(R)ﬁw%ﬁ%(R),(A)'ﬁm‘rw?ﬁm%
(2)  (A) ¥ & S (R) e 21 B
) (A) AR (R) S e ¥ :
(4)  (A) 3 (R) 2 7 ¥ iR (R), (A) HE A T 3

Inclusion of students belonging to disadvantaged groups demands :

(1)  evidencing and encouraging identity-based stereotypes.

(2)  isolation in the classroom on the basis of social affiliation.

(3) same-ability grouping of students in the classroom,
(4) awareness and sensitization towards diverse traditio
offem ol & efem forefel & et & ferg ;.
(1) W—mﬁamﬂﬁmaﬂ?m T
(2) THITSh WGl % SR G FHeq § 1

Reason (R) :
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Assertion (A) : Learners construct their oy knowledge based on what they already know

geason (R) :  Finding patterns f‘nd making linkages with previous knowledge helps-learners to
process information meaningfylly,
Choose the correct option :_ ‘

(1) BOtl? (A) and (R) are tlue but (R) is not the correct explanation of (A)
() (A)is true but (R) is false:
() Both (A) and (R) are false.
(4) Both (A) and (R) are frue and (R) is the correct explanation of (A)
e (A) :  Foremeft S WRS A ST § 3 s w0 A A 2
FTT0T (R): W@:W"iﬁﬁm%mwwwﬁﬁﬁmﬁbﬁﬁmﬁﬁmﬁamfi
Tafta FT 8 geg fod 2|

(A) 3R (R) 3w ¥ S (A) F (R) T oA Tl H 2
Q) (A) TR (R) Ted 2 |
3 (A) 3 (R) 31 e R
@) (A) 3 (R) S T E 3 (A) & (R) T =men 4 ¢ |

Reasoning, thinking and problem-solving are explained in which aspect of development ?

(1) Cognitive Development - (2) Moral Development

(3) Motor Development (4) Social Development

S ¥ e e § e, el i T FHE #) e ) 9 ¢
T foehr e (2) i fom

(3) ek foshrE (4) gt fawmE

i, As per Howard Gardner’s l‘hl_?_?l‘y of multiple intelligence, which of the following set represents
correct match of intelligence and associated characteristics ?
(1) Logical-Mathematical-+-skill of dance or athletic abilities
() Musical : performance or composition skills
(3) Spatial : skill of appreciating the natural world
(4) Intrapersonal : skill in understanding and relating to others
72 MER F TEAG H 4G & SR, ffefad 5 4 #9192 afg 31 39 gafyd o % el
7 %] yfarArae T @ 2
(1) - - o A1 e Hw
() HiEA : YEHA A = FH o B
() T : T AR F1 e FH & FA

Yy SR « G ) T S I A e i

Language development in nglary classes is facilitated :

(1) When teachers stress tipon and enforce the use of formal language.

() When teachers ignor"_-_ d dismiss the mother tongue of the children.

(3) When teachers begmi;q%l signs and symbols rather than concrete objects.
(4) When teachers use Cq?f{h{g;i'pte examples to refer to abstract concepts.

Yafia HaE B TS 1 foehid fa yahm waifid @ ¢ 7

(1) e e Sofies T i i 23 & o 3 o A

() <@ e A=l T HIGHI T sraRer o 3E F €

(3) @ feeh el S A w o0 wfoH @ S F

@ e spd STauRS 1 wefila F11 oI 31 e F I F9 € |
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As per Jean Plaget s theory of cognitive development, which of the following ability distinguishes
‘condréte ‘Opetational thinking from Pre-operational thinking ?

(1) Decentering Q- Hypothetical reasoning

(3) Object permanence (4)_ Coordination of senses

St farst % ST frem ¥ fagia % o, frefafeas 8 3 FH- ema g&-wfmaes 9= #
qd-Hfsharas 99 § aem F 2 '

St ki &) e b
(3) T fag @y g =
9. Which of the following statements about indusive education is not correct ?

(1) Inclusive teaching means “adopting-pedagogies that support needs of all learners”.

(2) An inclusive classroom “accommodates differences in language styles and promotes
collaboration”.

(3) An inclusive classroom centres around “fixed curricula and standard assessment”.
(4) Inclusive teaching means “teaching in ways that_ do not exclude”.

frefafias 8 | 19 @ Hu9 geah e & a8 F g8 _

(1) FEmavh ey = o € 4S9 e 1 staEm st qsft foanfeld # sravam et w1 and S
%Hl

(2) TS GuEvt Fa wﬁ%ﬁﬁwﬁmm%ﬁnamﬁwﬁ%”

3) “ﬁﬁaﬁmaﬂtmw"%mawmﬁsﬁmwmqun

w~ mﬁﬁmmaé%”@aﬂﬁ&?ﬂm%ﬁmqﬁ"

10. According to attribution theory of motl?aﬁen which of the following is more likely to result in
persistent effort and improved performanee ?
(I) An external attribution for success ﬁ an internal attribution for failure
(2) Internal attribution for failure as well-as success
(3)  External attribution for failure as welkas success
(4)  An internal attribution for success and an external attribution for failure

W’W%Wﬁaﬁ%mﬁmﬁﬁmﬁﬁﬁ@wﬁmsﬁtmwﬁﬁﬁm%?

(1) FHedr 3 fou St AR SR e % o STiafie SRH

27 SEEE S e S 6 fou Al AR

(3) FAHerAT SR THA M QTR STIUw

(4) m%mmmmm%mmm
11.  Which of the following statements is notcorrect about learning ?

(1) Learning implies reorganisation of prior conceptual schemes

(2) Learning is facilitated by social actien -

(3) Learning as a product rather than @ _;_pfocess

(4) Learning depends on learner’s previous knowledge

et & @ 417 41 e s 5 i § T GE R ?

Wy e 1 e g A e e @ 8
(2) fepmm Tmife o g wafhd et e
(3) afirm s fwa T #fog T Sar €
(4) afum fendt & 9d 9 W R w R

T G 4
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13.

14.

15

Whi_le pa'rticipating in a sports competition in class, Tanuj tells his friend that he will participa
the javelin throw and his sister can participate in jump rope because she is a girl and girls Fc‘a:' i
throw javelin. This depicts : : i
(1) Gender equality (2) Gender equity

(3) Gender stereotyping (4)  Gender constancy

e 3 W SR e o G a1 T S @ FEd & Pr ag e ek H o ST T
ﬁﬁmmmém%wﬁwwwﬁ%ﬁhmmﬁﬁ o

I yefdfa w3 ®
(1) SIS HHE 2) et gHdl
@ St wfearted (4) Sfex gawd
In the course of development, children achieve gross motor skills before fine motor skills. This
indicates that development is :
(1) Cephalocaudal (2) Linear
(3) Proximodistal (4)  Anarchic
o 3 5 B, ) e A N D T T iy e fa e e €1 7 < & o P
(y T 2 @
(3) HHU-quTE (4) oV

Which of the following is a typical characteristic of Dyslexia ?

(1) Difficulty in phonological processing

(2) Difficulty in physical coordination

(3) Difficulty in spatial awareness

(4) Difficulty in creative problem solving

fr=faEd | | 981 dehed %1 Th faime fovmar #H- & 2
' EEEE FEE H HiTE

() TR FEE H T

(3) I TR/ S F FAT

(4) T THEA FHIEM H HiGTE

Which of the following would not be characterised as formative assessment ?

(1) An assessment given during the class to provide ongoing feedback to students and teachers.
(2) An assessment task that is helpful in comparing students as per a standard set of criteria. |
3) Anassessment used to identify misconceptions in a student’s learning.

(3)
(4) An assessment given at the beginning of a new concept to determine students’ prior
knowledge.

freAfesfian & # TR T A S 2 .

(1) @i SR e 1 s sfrgfe wem s & e & <SR fen e |

(2 T HeAE F S AEEE % U A TR % SR O 1 e w0 § e e €|
) T ST T T TiE e MROne ) TEe i o e we fw S

(4) B % Td 5 @ fAuif w0 % fo v 78 sraamn & yes § @ T Sehe |

LRI RIT TR S J
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18.

ion (A) : School curriculum should give reasonable space and value to learner’s cultural
AsS¢ knowledges.

Resson (R) : Supporting students to uphold their cultural identities facilitates learning.
Choose the correct option :

(1)  Both (A) and (R) are true but (R) is not the correct explanation of (A).

(2)  (A) is true but (R) is false.

(3) Both (A) and (R) are false.

(4) Both (A) and (R) are true and (R) is the correct explanation of (A).

Afvmed (A) :  faael wewsws # faenfe F wimmfas 3 ®) 3 w=m st 9o & =fen)

®WOT(R) : (ool ) S Siegfas Team o s wed % fon, audE vem s, d@iad
TieHa o G S € |

(1) (A) 3R (R) 3 T8 € afs (A) F1 (R) T& =0 78 w3 ¢ |

(2) (A) 9@ ® AfFF (R) T 2

(3) (A) 3R (R) I T4 T |

W (A) 3R (R) I T ¥ 3R (A) F (R) TE =men 1@ 8

Which of the following types of questions can help assess a student’s ability to evaluate information

critically ?

(1) Questions that ask for the student’s personal opinion

(2) Questions that ask for examples that validate the text

(3) Questions that ask for a summary of a text

(4) Questions that ask for a simple definition of a term

= 4 ¥ 59 YR & 9 U& 913 # SEEA 1 TR T 9 GeTiHT HE F AT 1 0w wA °
TR FAAT € 2

Y 39 S B %1 sAfETd 19 98d ©

(2) 3 WY S IS W A LA Aol SRl o foe ged §

(3) 39 S foRet 912 1 WY A €

(4) 3 U S W2 Rl XA UM % T g2 ©

According to Kohlberg's theory of moral development, at what stage are children self-centered
and see their own benefit in doing something ?

(1) at the second stage in the first level
(2) at the third stage in the second level
(3) at the fifth stage in the third level
(4) at the first stage in the first level

Wmmmm%mfmwmﬁm%ﬁﬁﬁimmﬁwﬁm.
& oY 2Ed ¥ 2

(1) 9eal &= & ZHL =01 §

(I TEL TR F e Ay

(3) HY W F Ur=gd =90 H
(4) UEA TR % Tt W0 H

P-1 I 0 A 6



19. Impairmentisa __ condition, while disability isa ~ condition

(1) functional, biological (2) operative, physical

(3) social, psycho]ngical (4) biological, functional
e T  fofgd sefpowmam s AR
W FeTS, Sfa® 2) foramers, s

(3) WA, TR (4) S, S

i ion ?
' ' nition and emotion ¢
20. Which of the following aptly defines relationship between cog

o 3 -h other.
(1) Emotion and cognition are interdependent on eacl

(2) Cognition influences emotions but reverse is not tru
(3) Emotions influence cognition but reverse is not true.
(4) Cognition and emotion are two independent systems.

ﬁwﬁhﬁﬁ@ﬁq—mWWaﬂiWﬁ%m%ﬂﬁuaﬁwmﬁﬂﬁuﬁﬁm%?
(1) ST SR S T N g T et w9 A i F T

() T TS e W E S T faed g T e

(3) WA S W F § AR T fauid 9 T8 el

(o T S S, 2 e €

21. Problem solving is fostered by :

(1) Functional fixedness (2) Passive imitation
(3) Response Set (4) Divergent thinking
HefeEa 8 | #1491 F1E 991 999H 1 agdl 30 & 2

(1) =FEmEs e 2y fAfsRa sgam

(3) wfafwar a2 (4) A9ER fedA

22. Which of the following is a key principle of progressive education ?
(1)  Students should be passive recipients of knowledge from their teachers
(2) Learning should be based on authentic tasks

(3) Curriculum should be predetermined and universal

(4) Standardized testing is the best way to measure student learning
frefafaa 4 @ 27 @1 wifasita faan #1 v yy@ fagid &2

(1) B &1 394 el @ 77 #1 fAfera graeha @ =iy |

(2 Hra g el 9 e e e |

(3) ureg=al yd fuifta s wrdfus & =ifew

(4) B % Hi@H 1 A F A0 AAFIH w0 gay s7ees] aiew |
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24.

25

26.

) Cildhood s experienced differently by children across cultures,
rtion Childrens’ development is universal,

Asse
Reason (R) . .
Choose the correct option . |

(1) Both (A) and (R) are true but (R) is ot the correct explanation of (A).
(2)  (A) is true but (R) is false.

(3)  Both (A) and (R) are false.

(4)  Both (A) and (R) are true and (R) is the copp

ct explanation of (A).
AR (A) . ] G0 S ST S Heapfera TE1-STCT T 8 31w fobe ey 2
FTT (R) : =) o1 faehre Ao |
R o

(1) (A)sﬂumaﬁua%@mwﬁmmmﬁm%
(2)  (A) 58t & ffF7 () 7o )

A3 (A) 3R (R) 2R e ¥

(4) {A)aﬁt(maﬁq‘mﬁ%aﬂumaﬁ(mmmm%n

Socio-constructivist views of learning advocate that -
(1) Learners actively construct knowledge

(2) Effective learning is activated by lecturing and explaining
(3

)  Effective learning takes place through the process of recall and rehearsal
(4) Learners receive knowledge passively from others

|G & 1o FEEe f5H9R 30 &1 ) awen F50 E 0 -
(p Toener wfFa w98 T9 F ot w3 ¢

) Wﬁﬁﬂ%ﬁﬁﬁﬂﬁh&mm@m%

(3) UHERER 3R <reld @i faad Uiswa1 @ gure freron 2t &
(4) foenef o | ffera &9 8 90 9< 3@ §

Which of the following is a characteristic of effective feedback in the classroom ?

(1) Itis broad and generic. (2) Itis only focused on the outcomes.

(3) Itis timely and specific. (4) Itis given only at the end of the task.
freAfafEd & | 3vart wfagfe #i v favmar SE-H € 2

(1) &8 SAYF R FHA &l € | (2) F& I GRomH R Hzd Bedt ¥

(3 T wHiaE R fafae B 2 (4) TE had F F 3 § & < A B

Lev Vygotsky proposes that is important for self-regulation in Chﬂdl’tj’r.l. _
(1) Inner speech  (2) Adaptation (3) Organization (4) Disequilibrium
o9 G| gEfad #1d § f6 T=0 § w-fama ¥ o ARy 2 |

(1) fit o (SR (3) HeA (4) STEIAA

XTI &



27.

28.

29.

30.

P-I

)

While divergent thinking convergent thinking ————
(1) s fixed on one correct gg_ly_tion; encourages multiple answers

(2) Promotes mat]wmatical___:‘éil;i'lities; promotes verbal abilities

(3) Promotes verbal abilitié?:’promotes mathematical abilities

(4) encourages multiple ariswérs; is fixed on one correct solution

SIRGICUN (o A - 212164 i SRR
) O T T e &¢I ) wefea w @
(2) TR e ) e ¥; W e ) ageEn ad
(3) HfEs awash ) aemn &b ot et B agE 2
(4) = 3T F Wi FA L UE WA wHE W fer ¥

After getting ‘out’ in the game due to the rope getting stuck in her leg while jumpi_ng Aru says that
the rope deliberately got her out. At what stage of Jean Piaget's theory of cognitive development
do children reason like this ?

(1) Formal Operational stage (2) Sensory-motor stage

(3) Pre-operation stage (4) Concrete Operational stage

T@ﬁ@ﬁmﬂ(ﬂr@ﬁﬁmﬁ%mﬂmmﬁﬁ%aﬁmm%%aﬁmﬁﬁm@m‘mﬁw
¥l S s & S o fas ) e s 8 o=t 39 7 F 7% 20 ¥ 2
(3) - e ooy e e s

Proximodistal principle states. ﬂiat in infancy :

(1)  development proceeds from head to toe.

(2) development of languagé';:;ccurs rapidly as it is a sensitive period for development.
(3)  Physical development occurs rapidly with the development of fine motor skills.

(4) the limbs continue to g%oﬁr" faster than the hands and feet.

T fHgia wea € foF o |

B foFE S o o fm e

(2) T fosmm st | g & i o fae % fon S SEt )

(3) J&H TIfaw FvIE * fawm & |Y Wi faem ot | 2 2

(4) ﬁﬂ—ﬂ?ﬁaﬁ?ﬁﬁﬁ@g_ﬁﬁﬁﬁa@@%l

Which of the following are e:_gééples of scaffolding ?

(a) Think-aloud -~ (b) Prompts and cues () Questions
(d) Half-solved example _ (e) Rote Rehearsal

(1) (@), (b), (9 L (2) (a), (b), (c). (d)

(B) (@), (®), () (d), () =i @) () (b

7= 5 & 1 | e F I ¢ 2

(a) & HT == F_+ (b) EHd 3 2R ©) W
(d) =T B foha oM ST () TeHL QeUA

(1) (@), (b), (9 (2) (), (b), (), (d)

(3) (@), (b), (o), (d), (e) #  (a), (b)

TN A RTA 9 _ 7 4



PART - 11 / 3T - 1
MATHEMATICS | o™

Direction : Answer the following questions byseldcting the correct/most appropriate options.

39T - frefafas F99 & IS¢ &1 # (90 §a qa8 397 faFcq g7

31. See the number pattern given below :

2764125, '[..:1
Rl Be the next two terma 2l 1t _\.:

(1) 216 and 289  (2) 256 and "-4‘%E [3y 216 and 343  (4) 256 and 289
1798 82753 048] 25 S

ST QYR = R 2

(1) 216 3R 289 (2) 256 3R 343 (3) 216 3343  (4) 256 3i 289

32.  What should be subtracted from the sum of 9909, 9099 and 9009 to obtain 25454 ?
1) 2365 (2) 2536 A==l (3) 2563 (4) 2356
25454 WTE FT % e 9909, 9099 3T 9009.% A1 F { Ty W Er M 2
(1) 2365 () 2536 == (Y 2563 (4) 2356

33.

Which of the following statement is nfasigappropriate ?
(1) Charts are used in mathematics claﬁs as an effective teaching-learning material.

(2)  Use of teaching-learning material m*mﬂthemat]cs class consume students’ time for practic

(3) Students do not enjoy riddles in mathematics class.

(4) Mathematics lab is essential as it provides opportunities for hands on activities for studen

feAfafEd § 9 FF |9 27 999 i 399 © 2

(1) <Teg o & Fer o T gura frepor-sifams | €1

(2)  foreqor-AferTs AT 1 SYAM o w1 e H A & S w1 9y g w1 e E
(3)  foreneff o 77 e e SR e A

Hr Wﬁ?ﬁm%aﬁrﬁ%ﬁfmﬁavﬁﬁﬁmmmmm%n

¢ s
2—fr5/ %/. __\\-\ \ ,j%/?;l'—?/ 7
& L :j—_%@/ 19 J
. i"fs:qiiwﬁé gy $6 L
11 2
i mmwmws/ 10/ 9909 2R 001l .
L 7\“7‘?”’— Goag SI6ag
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Practice

students,

I

34.

o sd‘lOO] mathematics >

: for WO Pmblem
Nl e e R OTIOWITE s true 10 tical modelling:
ema
(1) Word p,-pbic-rns are not Mamples of math I
: ; 35585 on .v'
(2)  Word problems are important in secondary d :

| knnWledge it

into a form where

on pmredura i
e situd tion

(3) Word prnN(‘n‘lﬁ focus more

: i lises
(4) Word problems refer to exercises where the child forma

a specific mathematical technique can be applied.

ﬁﬁrﬁﬁﬁﬁﬁaﬁ?m@?ﬁﬂﬁﬁﬁmm*m@%?
) s AT T e % Sere T A |

@) =t TS FAT HATE FasH § wre i €

3) mﬁmﬂﬁﬁﬁw‘ﬁmmﬁ%m%%t

wr o TEE I ST ) Hafua w0 ¥ i a=n o
IR E ARG I QTR s = A

W‘*ﬁ“w%mﬁ

35. According to National Educati '
ucation Policy (NEP) 2020, assessment of learners include *

(1) Cognitive, affective and psychomotor d.
- r domains
(2) Cognitive, social and spiritual doma;
| ains
(3) Physical and psychological domains
(4) Cognitive and physical domains
2020, & FTER, Tenfds # swem %1 e
(1) HAATES, 9EIHE 3R AT S A
(2) FIAMHS, GHEISE, AT AW
(3) fﬁ afr{ - E\ ﬁ
My~ ST iR sfifas s
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few s
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42.

43.

44.

45,

the following statements 1s correct ?

Which of

(1) 1lisa composite number
(2) 1isboth a prime and a composite number

(3) 1is neither prime nor a composite number
(4) 1isa prime number

frafafad FIH H | SH-11 Fue w8 22
1) 1, T I g1 #)

(2) 13T, U v s spe we
(3) 17 AT R ik 3 A e B

M7 1, TE 39y ge R

Brij had a wire of length 100 metres to cover the land of his choice. He wanted to take the bigges!
land. Which of the following measurements should he choose to take the biggest area ?

(1) 30m Xx20m (2 25mx25m (3) 5mx45m (4 15m X 35m 47
I & Y U THE ) SHE S ¥ w100 et 1 AR o1 | 9% Ges 991 SHIA  ZEhS o1 =wd oy
frafafed § @ 3/ fm | &1 ghe o wifen qifd ST S 1 @Ahe sAfeskdd 2 2

(1) 30mX>X20m (2) 25m X 25m (3 5m X 45m (4) 15m X 35 m

A is always a regular polygon.

(1) Square (2) Pentagon (3) Circle (4) Isosceles triangle
TH_ 9 99 ey o wl

(1 =i () Ty @) I 4y wEfgaTg P

The parcel sending rates are given below :

Parcel weighing (50 grams or less) : T 15.00 parcel weighing (for every additional 50 grams) : X 7.00
Meena wants to send a parcel to her friend Charu in Delhi. The parcel welghs 350 g. Look at the

charges and select the correct cost of sending the parcel : =
1) T 50 (2) ¥55 (B) %57 (4) 42
TTEE A5 1 S A & T E '

IS F9R (50 T 3R IHE FH) : T 15.00 THA 1 HR (W A 50 T ® @) :27.00
T ST Feell 91 1 qrEe o STedl €, S faeeh ¥ qrde MR350 g ¥ 1 <l i e He S
1 el Y 1 G HI19T

1) %50 () %55 @) 57 Ay T4 X
SPACE FOR ROUGH WORK / T% &t % fa W&
3037 Sog ~%
S loog — Y
e J
’ Sf- | : \ | 009 - 19
jloe R LEA ) P.
T RS e !
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46. Which of the following is/are related to early number concept formation ?
(@)  One to one correspondence
(b)  Hierarchical inclusion
(c) Basic operations
Choose the correct option :

(1) (a) and (c) (2) (a) and (b) (3) (b)and (c 4) Only (a)
ffafEs ¥ @ 27 /3 mﬂiwmw%aﬁ%mﬂm%?

(a) Uh&! Hufg

(b) USTIh{Hs HHEYH

() HET SfFA

E: AREE TG ﬂﬁ : €0

1) () 3R (c) 2) (@ air (b) (3) ~(b) 3 (c) jz Fat (a)

. Pos ™ i . ?
47. Which of the following is not true about ‘multiplicity”of approaches” in teaching mathematics

(1) It hampers the learning of child as it leads to confusion.

(2) Offering such a choice allows children to explore and use the appr
and easy for them.

(3) Itis crucial for liberating school mathematics from the

(4) Very often, there are many ways of solving a problem.

fore 3 foreror & “fafost wom & i’ ¥ fom fFrefafad & @ #5- 1 HA T €7

@y 75 = 3 ST B W ST & A T8 Y L SR F L

) waﬁ%ﬁmwﬁ@ﬁﬁwm&ﬂﬁwmaﬁmﬁwww%
St 57 folw G wwifeeh ol ST

3) %%ﬁﬁﬁﬁ@ﬁﬁﬂmmﬁmﬁgﬁm%mnm@%

4) Wﬂmwtﬁﬁwmwmmtﬁmﬁl

oach that 1s most natural

tyranny of the one correct answer.

48. Yamina threw a die 10 times and got the followmg results :

5:3.46,6,1,4,5,383 2 3 Bt

Which of the following numbers she got the maximum number of times ?

1 3 2) 1 (3) 15 “4) 6

1 3 TF 9110 9% 39T 3R 39 frefafad wftom e gy

5R3MAT 67 R E50 3 1352

FrfafEd SEE ¥ @ 39 SfEH TR HiH W HeH I g 2

Wy 3 2) 1 @) & (4) 6 i
SPACE FOR ROUGH WORK /T @& & it STT&

rZ

IO A A




50.

49,

A student of class 111 solved 26 x5 as 26

1 ‘\, Hﬁ ) 1
Revisiting which of the following will best remediate this gligtonception ?
evist g
- ing (2) Recalling md}ﬁ_pilcaﬁ(mn tables
1 Concept of regrouping )
5y t orrespondence (4) Multiplicahcmp‘_of_: one digit by one digit
(3) One to one COTTE -
%5 %Y 39 THR &A foha 26 Las
X 5 |

1030

Souy 17 ¥ U faenedt 7 26

g o @ = e 50 Wi g 3 fern T 97 B
(1) qefeor &1 SEHRon | (2) RISl %l JAER |

B)  w¥=t gl My TF 3T FT G G o

The value of 253 x5 35+-5—3x185is : _:
(1) 64.0 (2) 95.0 @3)
25.3X5-35+5-3% 18,5 %] UH ¥ :

(1) 64.0 2) 95.0 (3)

51. The number of degrees in 2% right angles is :
(1) 285 2y~ 240 3) 330 (4) 210
22 Tl & fefirdl %1 den - =t
1) 285 (2) 240 - (3) 330 j__ (4) 210
SPACE FOR ROUGH WORK / T% $r&§ fe e
P WL P e IR GRS

1§ =Y



52. Whi Yoy O ; _ / .
stagec? of the following is most appropriate to introduce ‘Data Handling’ at primary

(1)  Within classroom, collecting statistics of students’” height favourite food; colour; cartoon etc.

and asking questions related to data.

(2) Showing population census of a city for five years and asking stude

growth. F
(3) Drawing a bar graph on the blackboard and asking students to red
(4)  Asking the students to read time tables of bus and train Hmings-

; 7
WWW‘MWW%’%W%WWﬁﬂWWW%' agps
- 3 ¥ ) & . ﬁg ‘qﬂ'"“ 3ﬂ'{ m -q.(
P G e o, ST et @, #757 T T RS

RG99 g&11 _
PR S ———————— P R

&1 FE |
3) Www@-aﬁ@ﬁmmmmﬁmﬁﬁaﬁmﬁ@maﬁm%mm1

@) faenfed @ =@ ol 3 % GHG F THA-GROE B TG 6 foAw FEA

d the data from it

53. A frog jumps 3 steps and a rabbit jumps 7 steps at a time starting from a place O. At which of the

following steps, they both will be jumping together ?

@374 (2) 378 (3) 354 (4) 343
fFdt T O ¥ SR FL&F T Hesh 3 FaH 3R T @I 7 FHEH H AT AT ¢ | o o | R Fe
W A TE Y AT A 2

@ 371 (2) 378 (3 354 (4) 343

54. How many packets of 11—2 kg salt can be made from 7—;- kg of salt ?
(1) 60 2)8872 ()90 (4) 45
1
7,;. kg T q Ekgm%mﬁﬁ%&mmm%?

1) 60 @) 7 £y 90 4) 45

SPACE FOR ROUGH WORK / 1% &rd & foT se

L IS
e e To
q0 e
i JERS
I 1T TTE e = 1 ///%/Of- J
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55. Which of the following should be the characteristics of mathematical language at primary level ?

(@) It should be precise. 57
(b) It must be ambiguous as it can add openness in the subject.

(¢) It should be reinforced through child’s language used in everyday life. .

(d) It must be highly technical as it will help students to communicate accurately in mathematics,
Choose the correct option :

(1) (a), (b)and () (2) (a)and (o) 3) (a), (c)and (d) (4) (a)and(d)

frtferfiad 3 @ FH-T wafis w1 ) e s fagwand @ =fea 2

(a) I Ger® B! =fe |

(b) 17 e B =feT afE 7 famg ® gerd SIS " |

(©) =1 F 3w SET § ITE F S STt v F "o § 38 gafed e s =nfee |

(d) 7z aTfus gfafys B wifew FifE 398 famfa 1 nfm ¥ a& g2 £33 o gema 20

e fawcy ﬁﬁ :

) @O @ @MO  F @M @) (@M o
56. Whilesolving 182 >

-

in class II, a teacher explained that we have to subtract 7 from 2 and 2 is smaller than 7. So we will

borrow one from 8 and then we can subtract 7 from 12. One student told teacher : Mam [ why we

are borrowing from eight, as borrowing is not good. What a teacher should do in such a situation ?

(1) Teacher should change the word ‘borrowing’ to ‘regrouping’ and then show the process of  59.
regrouping.

(2)  Teacher should tell the student to focus on learning the algorithm of subtraction.

(3)  Teacher should ignore the student’s question and continue with her work.

(4)  Teacher should scold the student and make him sit.

FHIOH 182

=04

ﬁwmﬁ_@awﬁmﬁmmﬁ:ﬁ 7H2H R MR SR 2, B 7R WiAu a8 Y
T SUR &A1 T2 SR 79 79 1278 | 7 H1 T FLUEN | U 9= 3 ey § gt - B9 79 8 ;R

H ATE| SUR AT 791 T aran | 378 IRl § syemfym oy e s =few ? 60.
(1) SEATH ] ‘SUR' e I il TTHIEIH FH1 ST HT =g 3 [HHgEs 71w
femrt =fen |

(2y ST 1 T3 S Fel =ifed fh Hed i wer fafy drgy w e 2

(3) ALAMTHI F1 = F YA | TSRS HLh AT HH FRT TG T2

(4) FAMTHT 1 T I B2 HT 93T <A1 AMBC |

SPACE FOR ROUGH WORK /T & % fete 578 i

P-1 I . 18 J R0
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Which of the following statement is least appropriate for encouraging mathemagjq, learning g,

57.
(1) Everyone can learn mathematics.
(2) Mathematics learning is not gender specific. s
(3) Discourage intuition as it hampers the development of méthema SRS L ast
(4) Failure does not imply that students cannot do mathematics. he
e 9 % B o T ST ) St H0 (0 o 7 ST €
(B Tt iforg HE T
(2) T sxfipm See-fafre 7€ 8@ 2 | s
(3) Wﬁﬁmmmﬂ%%nﬁmﬁaﬁﬁmﬁaﬁmﬂmwgm'
(4) SrgFEa 1 o 7 TE e foh fereneff nfor e T A |
58. Which one of the following costs least ? '
(1) 750 packets of ¥ 7.50 each (2) 7.5 dozen items of ¥ 750 each item
(3) 75 dozen items of ¥ 7.50 each item (4) 75 packets of ¥ 750 each
frrffian & & fre o T8 F4 €7
A %750 3% ¥ 5 750 e (2) %750 YoF awq areft 7.5 TS AEGQ
(3) ¥ 7.50 VAT I A 75T AU (4) ¥ 750 WAF Ye At 75 Fhe
59. Which of the following model is least appropriate to develop the conceptual understanding
regarding the relationships of ones, tens and hundreds in early grade learners ?
(1) Money (2) Abacus
(3)  Place value chart (4) Dienes blocks
FrefeEd & | F19 91 Aied ywarm Ha & Rt § g, 2ars it §92 & ga4 % ar § STauronHs
99 fohiad &0 & fog gad 7 I9gF 27
1) 3= @
(3) THEIE =R (4) T e
60. Which aspect of evaluation is used when a teacher ensures that test made by her fulfils the objectives
and criteria of that test ?
(1) Practicality (2)  Reliability (3) Consistency (4) Validity
S frferst o% gty #dl € for S8 gR1 o1 191 3%, 39 3R % S29d) U FHENE! I U Hd ¢ ad
e % g get &1 39di foran a1 € 2
(1) A= 2y favagHada (@) gdTfa (4) Qe
SPACE FOR ROUGH WORK / T & % faw s
T TR 19 J

pPr N



PART - 11l / 3T - 111
ENVIRONMENTAL STUDIES / YgfaRul 3rcug+ 64-

Direction : Answer the ﬁ)Howing qm}gﬁons hl; SEI(.’CHHS the COI'I‘ECI'XIHOSt ﬂpprﬂpffﬂl'e Opff{]IIS.

Arer : Ffafiad 39 & St 27 & forg W/ Wa9 397 faweq g

61.

62.

63.

P-

Which of the following best reflects child -centred strategies in teaching EVS at primary leve ,

(a) Discussion (b) Demonstration

(c) Lecture (d) Survey

(1) (b)and (9) (2) (c)and (d) (3) (a) and (d) 4) (a) and (b)
%ﬁ@ﬂ?aﬁ—%ﬁﬂwﬁﬁm ST Tt &2

® S (b) TR

©)  =mem (d) T g

O Ok @ OFG O @@ M @A)

E{’[glprehm‘nswe evaluation means holistic way of evaluating a student. The ways in which ,
teacher can assess her students for comprehensive evaluation in EVS are

(1) half yearly and annual exams  (2) rating scale during assessment of activities

(3)  portfolio (4) teachers’ observation
Wmmm%@mmmmmwm.mm@@ﬁ@ﬁfwm
ST AR & foTT 3707 B B STeher 2 e & g & -

(1) Srefarfi® siv =fte qhen () iafaferdi 3 gt  fog W =a

By dEwife (4) Toreri o ST

You wish that students learn by peer-learning strategies. Which strategy will you adopt to fon

groups ?
(1) Make a homogeneous group of students according to their scores in examination

(2) Make a heterogeneous group based on participation and cooperation

(3) Form a group of 5 students of same gender and socio-economic background
(4) Make a roll number-wise groups of 4/5 students

MY 9T & F B Feurs!- e WiHifadl g W | 3 THe HY s 2

(1) e & T i % STIER BT H TH GHH HE |

@y wniterd 3t Fedm % SMUR T T a9y THE S |

(3) HHM feim 3w G- anfds gSyfa & 5 B i TF JYE o |

(4) 4/530 % A FaL & FTHR FHE T |

T A
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YVIUUL UL ULe IOHUWINY SETS aepicts the themes or EVS at primary level /
(1)  Food, Material, Shelter

(2) Family and Friends, Travel, Natural resources 70:
(3) Shelter, Travel, Things we make and do
(4) Weather, Water, Travel
ﬁmﬁf@aﬂﬂaﬁ?mwwwﬂﬁf@*mﬁmi?
(1) e, 9, STer -:13;:.__; 71
[y ftom iR i, A, SRl HE e
3) ST, AT, S S R S & AT € L))
(4) em, g, T Ll
68. Read statements (A) and (R) properly and then answer the fo[lowmg questions.
(A) : Silkworm can find his female worm from many kilometers:away by her smell.
(R) : Some female insects release ‘Pheromones’ which can be réeognised by their males by Sme]|
Choose the correct answer :
(1) Both (A) and (R) are correct but (R) does not explains (A).
(2)  (A) is correct but (R) is incorrect.
(3)  (A) is incorrect but (R) is correct.
(4) Both (A) and (R) are correct and (R) explains (A). 78
FYT (A) T (R) F o | 7@ qon Ffafad e &1 3w 3
(A) : Wmmmwﬁzﬂaﬁﬁaﬁaﬁm‘nﬁaiﬁﬁwﬁm%
(R) : WW%WM%WW@meﬁ%r
frafefan & | & sw a1 399 =
(1) < *¥(A) & (R) 9@ § 59 (R), (A)ﬁnﬁm@mﬁm%u
2y (A) wE ? fag (R) To@ 2
(4) (A) T ® fobg (R) 5 A
(4) < F¥F (A) W@ (R) TE € 991 (R) (A)aﬁuaazmamr%
69. Seema, an EVS teacher organised a field trip to zoo for her _students Which of the following are
the most appropriate objectives of the trip to the zoo ? |
(a) Recall names of animals in the zoo
(b) To relate concepts related to animals
() To promote process skills
(d) Assessment of students’ learning at the zoo <
(1) (), (c) and (d) (2) (@), (c) and (d) '
(3) (a)and (b) (4) (@), (b) and ()
T, e geieE fafes 3 o s ¥ fau fafearr v dem (Hee f79) @ are
frafafed § 9 17 fafearer 1 a6 & 998 SHR @2 «
(a) fIfEamR % JMaRi & 9 4@ w7
(b) SRl H Fafyq sgemonai &l el
(c) HfshAT ¥ F1 wgran <
d) fafearer ¥ e & diaa =1 e
@ b, (0 ) CRCACEACRS
(3) (a) 3 (b) @) (a), (b) 3R (=
P-1 (IR WA 22 J



70. What is the mass of an object with a density of 12 g/ml and a volume of 3 m) 3

() 2455 (2) 368 3) 4g 4 15¢
34 ] N TANA 1w TR ST 12 M) firefy <z & Ao S 3 el s gy
(1) 247 ,(})/ 36 1. ) 4TI (4) 193K

71. The territorial states of Haryana are :

(1) Uttar Pradesh, Uttarakhand, Madhya Pradesh
(2) Himachal Pradesh, Punjab, Bihar

(3) Bihar, Punjab, Uttar Pradesh

(4) Himachal Pradesh, Rajasthan, Uttar Pradesh
T % Hurad T € -

(1) S WY, ITWETE, T ToV

2) feu=a w_w, U, foer

(3) TR, 99E, ST W=
Wy Tenre wew, TSR, IR

72. Read the given statements carefully and choose the correct option.
Assertion (A) : We can cook food easily at sea level as compared to higher altitudes.
Reason (R) : At high altitudes, boiling point of water increases.
(1) Both (A) and (R) are true but (R) is not the correct explanation of (A).
(2) (A) is true but (R) is false.
(3)  (A) is false but (R) is true.
(4) Both (A) and (R) are true and (R) is the correct explanation of (A).

Tou T el 1 SEYEE v iR el fashey 94 ¢
AT (A) :  TH i $=E H o § GYE a1 T SAEA d T Th] Thd € |
T (R) : 3ffires S9TE W AT T FLHh @ Sl 2|

& T (A) 3R (R) T ¥ AlFA (R), (A) FT T TS T B
(2) (A) 9 ¢ AfFA (R) 38 B
(3) (A) 37 € AT (R) T 2
(4) =H (A) 317 (R) T € 3R (R), (A) F1 TE ST 2 |
73. Doctors prescribe blood test for patients to confirm malaria. Blood test is done to :
(I) check iron in blood
(2)  check for eggs of female anopheles mosquitoes in blood

(3) check for microbes in blood
(4) check for haemoglobin in blood

Tia IS H ARl H1 TedH % e g i w9 s o e Ffd 5 81 g1 9 e 9
(" 398 3ufeyd e 9@ #1 W 1 9 9o |

(2) HH HIE H & A€ Y IufeAfd 1 gar = |

(3) =HH Iufterd Sfransii 1 gar = |

(4) GH Sufeerd EHmeifad &1 gar 9e |

P A0 O 23

i
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74. It has been observed by bird watchers that there is a peculiar species of birds. The male bird maj
| their own nests and the female bird looks at all the nests and selects the one she likes the best ap,, 7.
decides in which nest to lay her eggs. The name of the bird is :

(1) Weaver bird (2) Indian Robin  (3)  Sun bird (4) Tailor bird

fer ST 3THE F A Y 7w Jeron 6 @ R uftrd ) v e wonfa ® T geft aTqd- A S ay
3| o weft 57 9 Sige F) dEd 1 ST Y I S gy 31 A @ 39 & 9w oS e i fgm
F &1 7@ 0 F A R

W St vt (2) waAraS! (3) VRl @ (4) =fsfq fafem

75. Students conduct a survey in their homes and neighbourhood to find out the number of member,
and approximate amount of water used in each family. What skills and processes are developeq

through this activity ?

(1) questioning, inferring, expression

(2) hypothesising, inferring, expression

(3) prediction, experimentation, observing

(4) questioning, experimentation, sensitivity towards environment

& v ¥ 5@ 1 T8 A F W @ B Y FE iR fmand fawfad s €

(1) geae, Srom feme, st

(2) SRee, gfom fAemer, AfeAfE

J3Y  STEH, A, Sl ~ 6
(4) ¥ YAl TEN S, TR % Uid HegAwied

76. A chapter in EVS textbook of NCERT describes Wahida Prism and her experience in the Navy as
a doctor. What are the reasons for including this chapter ?

(a) Her experience challenges gender stereotypes
(b)  Her story gives a peep into the life of a medical officer in the armed forces

(¢) Understanding that prism reflects 7 colours

(d) Understanding the difficulties faced by her and her ways of tackling them
(1) (b), (0) and () 2) (0 and (d)
(3) (b), (d) and (a) @) (a), (b) and (c)

U HIZ HRA. F1 E51 08, ST % UF AeE § g b e SR AR § St % w9 H{ I
HIYd 1 FUA 2| TH IMHA FT3 & T FR € 2

(a) A% q9a A wfed 1 T a8

(b) 3\ FEH TR T 4 Uk A afusd & e T Th FEsw 9l 2 )
(c) 92 gme & fyss 701 =1 <o €1

(d) 5% THA o7 Frell HieAEdl o 378 fged & wdiewi H THe|

1) (®) (M@ 2 (9 ()

BY (b), (d) " (a) 4) (a), (b) ()

P-1 N & J



77.

78.

79.

Consider the following statements (A) and (B).

Statement (A) : Bora is a common variety of rice used in Assam.

Statement (B) : Paddy grows well in clayey soil and requires a lot of water.
Select the correct code from the following.

(1) (A) and (B) both are wrong (2)  (A) is correct but (B) is wrong

() (A) is wrong but (B) is correct  (4)  (A) and (B) both are correct

A= T T e () 3t (B) T fem A

HIT (A) : N TR § IFN H TR A HE FUF Gy gH L

FAT (B) : y Tt @t fa firgt § o= At R v 39 wwa # w5 A0 ® qrf =nfe
Fretferfa & & w@ #re 3fm -

(1) (A) 3R (B) A e ¥ (2) (A)T& R 77 (B) e ©

() (A) T ® 7 (B) wE # MY (A) 3T (B) < TR R

”Poc.ham.palli” is famous district for its beautifully designed bright coloured sarees and for the
special kind of weave which is also called Pochampalli. Itis a part of :

(1) Karnataka (2) Maharashtra  (3) Telangana (4) Tamil Nadu

reETCS " e feSE F) aHeheR i #1 W sl 9 T 3 g o o e @ ww
€ & o foremd fren 21 e o 3 @ forws wm &2

(1) HAle® () e (3) daTmE (4) afHerTg

An EVS teacher asks her students to think and answer “Why do we feel comfortable in woollens
clothes during winter”. This question is a :

(1) analytical question (2) hypothetical question
(3) factual question (4) convergent question

et Fofaen) 193 BT A W ok e 33 3 o et & e W & S s el A
el A FA 8 | TAEHIFA R

(1) faveoomEs 997 (2) WIS T
(3) dHAHE FH My P g

o R TR 25 -



80. Read the following statements carefully : r
Statement () : EVS syllabus is divided into 6 themes Water, Relationships, Food, Tran,
Shelter, and How things work.
Statements (IT) : The themes of EVS are close to children’s life:
(1)  Both Statements (I) and (IT) are false
(2)  Statement (I) is true and Statement (I1) is false.
(3)  Statement (I) is false and Statement (I1) is true
(4) Both Statements (I) and (II) are true

Fﬂg 2
L

HUA (1) : & o U TR A 6 ot vz e & ), ST HA, W AT, ST 7
FR FTE H S

FOA) . ATE ¥ ofim A % ot & 7g B €
() 2 e (1) T (1) T R |

@ o (1) TE & T3 e (1) T E

(3) YA (I) T %.Qa oA (11) T8 2
4y 3 e () T (1) T | £

i Textbooks of EVS should reflect the recommendation of NCF 2005 of linking students’ life at sc,

to their Jife outside. This implies :

(1) Textbook is the only source of knowledge. : '
() Textbooks supports students to construct knowledge through all the given activ

3) Teachers need to use textbooks as one of the teaching learning resource.
(4)  Students are compelled to memorise few important concepts of EVS.

T 1 ST ) e et 35 e ) 7 AN 3 e @ S 1 TEACE, 2005 7 6 g
ﬁmmmlmwﬁ%;
(1) TG 1 51 e i
A G fanfeia @ 5 st S e S % I @ FH 1 R Her w6
(3) el =1 Toage ) fram- s e § o S & & ST B F A
(4) fom=net EVS % mewaqut smumonst @1 4 w0 & fow o €

82. Read the following statements carefully and choose the correct options :

Statement (A) : Xylem transports water and minerals from roots to rest of the plant.
Statement (B) : Phloem translocates food from leaves to various parts of the plant.

ities.

(1) Both (A) and (B) are false (2) (A) is true, but (B) is false
(3) (A) is false, but (B) is true (4) Both (A) and (B) are true
fu T Forl it AHYEF Ye UG HEl fehed 94

D T (A) : FEeH T AR GiAS Y TS F W-F At e o v € |
FIF (B) : TAITH M5 1 gfaEl 9 Y F fafy= wm ¥ wreiaiE w3 R
(1) =i (A) 3R (B) T& & £ | (2) (A) @& ? 3R (B) T |
By (A)Tem £ #iv (B) T ¥ (4) 3 (A) ST (B) Vel € |

P-1 MKW 26



13.  Alex, an EVS teacher of class 3 while introducing the theme ‘Work We Do helps his students to
cut colourful strips of paper and weave the strips to make a mat. The edges are glueq together to
make a beautiful mat. Which of the following objectives should Alex help his students focus ?

(a) learning about colours, patterns and developing an aesthetic sense.

(b) relating the activity to weaving done by weavers.

(c) memorising the steps of making mat. ;7

(d) choosing papers of attractive colours and ljé:d%f%ing cutting of strips perfectly.

(1) (b, () and (d) (2) (a); [} and (d)

(3) (a) and (c) (4)  (a),(b) and (d)

F1 3 % T S0y R o ¥ T S 5 aydd o #) Y 1 g AT I H Fg 29
i Wzl A o e A R A g v G T A F A v g
FerenTen T & | Forfefias © @ R T2V R ToRy e 9 i S R O H HE F e

(@) T, Yod % AN o e 3R W 9y faswfag s

(b) v et ) g G T AR A @ i F
() RR % s9R =i fafy & Sl & A HE |

() ST i & T AR g H T e @ e |
O ®) @ R @ @-Q @
®) (@ s M7 @) F

{

4. Nina, an EVS teacher of class 5 gives a group assignment to her students that they have to V}Slt
nearby agricultural farms and find out information, about the implements used by farmers during
agriculture and the type of crops they grow. They-also have to collect photographs and prepare a
report. What process skills and learning indicafors are involved here ?

(1) Questioning, Experimentation, sensitivityzgfivards environment

(2) Hypothesising, inferring, expression

(3) Prediction, experimentation, observing

(4) Questioning, Expression, Inferring

el 5 %1 et ferfesh A1 o7 ST 1 U T ST 2 & i 3 U % I ) G Bl €
S i 3 2 PR g S R ST AT SR sl 5 g T o A v % R
ST W A ¥ 32 B i Forde F Rl SR F0 &1 qe S @ i S SR HEd ®

O 27 J






88. Which one of the following statements regarding Al-Biruni is NOT true ? Chog, the e e

answer.
(1) More than a thousand years ago, he came to India.

(2) He did not write anything about ponds in India.

(3)  He has praised the making of ponds in India.
(4)  The place that Al-Biruni came from is now called Uzbekistan.

3e-foret & IR § Freferfian ol § @ $H-9 0F Fod G TE 27 HE I A
(1) TIRA i Q1 9161 B T8 WA 37 ¢

() I WRA ¥ 36 T A F AR F7 07 o 2

(3) S I G N wra § Ao T # AwAE F v # 2

W I-TIER ST Qo ) W e SR FEa

—

8 tagk .

—

i 89. Which one of t1‘1e following statements regarding Ghadsisar Lake is NOT true ?
S Y (1) It was built around 650 years ago. (2) It was connected with nine lakes.
(3) Itisin use till today. (4)  King Ghadsi of Jaisalmer got it made.
SIS & Hafer Fetfefan For & 4 B9 0F @ w7 87 w0l 7
(1) & T 650 et Teo! S T 1 (2) % A arersii & 5[ 5 1
(3) TE T S F yFm # A S TS TSt A 38 S

90. Consider the following statements about beehives :
(a) Honey bees live in beehives. Every beehive has one queen Bee that lays eggs.
(b) There are only a few males bees in the hive which have special roles as workers.

(c) Most of the female bees in the hive are worker bees who work all the day in making the Erags
and also looking after the baby bees.

(d) The worker bees fly around Litchi flowers in search of nectar for honey.

salt into the
The correct statements are :

(1) () and (d) (2) (a)and (o) (3) (a) and (d) (4) (a) and (b)
e 5 e 3 T A e T e R R R
(a) TYERFEE Wee F B 6 Tl €| T oW H TF T 7 A & S A0S <A T |
£ 7 (b) = EF3 T HE i 2 € B & forw 4fen & w9 W foriy e ohd €1
4 () A i Ee AR At A A E S e v S S e 6w e o
F ¢ |
() T T e 3 o 76 1 @ 36 o et % el % R SR T

Eﬁﬁ‘qﬁm‘g:
(1) () 3R (d) (2) (a) & (c) (3) (a) ¥ (d) M (a) IR (b)

AN T 2




PART - IV
LANGUAGE - | : ENGLISH

| IMPORTANT : Candidates should attempt questions from Part-IV (Q. No. 91-120), if they m
opted for ENGLISH as LANGUAGE-I only. 4

!l'li' Read the passage given below and answer the questions that follow. (91-99)

il Yet as soon as she saw him, she did not look as Alfred thought she would look : she amiled, hey
blue eyes never wavered, and with a calmness and dignity that made them forget that her clothy,
seemed to have been thrown on her, she put out her hand to Mr. Carr and said politely, "I'y
Mrs. Higgins. I'm Alfred’s mother.”

Mr. Carr was a bit embarrassed by her lack of terror and her simplicity and he hardly knew why
to say to her, so she asked, “Is Alfred in trouble ?” _

“He is. He's been taking things from the store. I caught him red-handed. Little things like compacy,
and toothpaste and lipsticks. Stuff he can sell easily,” the proprietor said. _

Mrs. Higgins put out her hand and touched Sam Carr’s arm with an uqderstandm% %entlzn?_qql
and speaking as though afraid of disturbing him, she said, ”I‘f you would only listen to kme e or;u to-m
ything”. Her simple earnestness made her shy; her humility made her fa'lter‘ anci loo ac;vay, ‘ tma
B nent she was smiling gravely again and she said with a kind of patient dignity, What do you inteng
do, Mr. Carr ?” o et . 1

“T am going to get a cop. That's what I ought to do.” ' ‘
“Yes, Igsupgosegso. It’s not for me to say, because he’s my son. Yet I sometixlnes think a little good
~ advice is the best thing for a boy when he is at a certain period in his life,” she said.
Alfred couldn’t understand his mother’s quiet composure, for if they had been at home and someone
had suggested that he was going to be arrested, he knew she would be in a rage and would cry out
against him.

91. ‘.. her humility made her falter....”

Choose the word opposite in meaning to the underlined one.

(1)  frankness {2y intrigue (3) hitch (4) pride
92. Which of the following statements is not correct ?

(B Outside, her conduct was like that of a caring mother.

(2) When she introduced herself, Mr. Carr felt stupefied

(3) He felt that he would have to forgive Alfred.

(4) Athome, Mrs. Higgins would have been enraged.

93. Which of the following statements is not correct ?
(1) He stole cream, compact and lipstick from the store.
(2r At Mr. Carr’s accusation, Alfred’s mother felt intimidated.
(3) Yet, she was very gentle in responding to him.
(4) Alfred was a petty thief.
94. Having looked at his mother, Alfred was :
(1)  scared (2) pleased 3y surprised (4) shocked

95. “.... he hardly knew whattosay toher.'

The underlined is a/an clause.
(1) Noun A2y Adjective (3) Adverb (4) Principal
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96. Study the following statements : o
(@) When she entered the drug store, Mrs. Higgins was not properly dresgeq

) She looked like the mother of a guilty person.
EE) Mr. Carr did not expect her to be calm and dignified.
A (b) and (c) are right but (a) is wrong.
(2) (a) and (c) are right but (b) is wrong:
(3) (a) and (b) are wrong but (c) is right.
(4) () and (b) are right but (c) is wrong.

97. ‘... made them forget that her clothes seemed...

The underlined word is a/an - 4) No

(1) Pronoun (2 Preposition (3) Conjunction *) bt
98. ... her blue eyes never wavered'.

Choose the word nearest in meaning to the underlined one. i etkne

,(H IIESItated (2) “laved (3) snjckel‘ed
99, Study the following statements :

(@) Mr. Carr intended to get Alfred arrested.

(b) Mrs. Higgins wanted him to be given a chance to reform himself.

(1) (b) is right and (a) is wrong. 42y Both (a) and (b) are right.

(3) Both (a) and (b) are wrong. (4) (a) is right and (b) is wrong.

Read the extract given below and answer the questions that follow. (100-105)

All the world is a stage,
And all the men and women merely players;
They have their exits and their entrances;
And one man in his time plays many parts,
His acts being seven ages. At first the infant,
Mewling and puking in the nurse’s arms;
Then the whining school-boy, with his satchel
And shining morning face, creeping like snail
Unwilling to school. And then the lover,
Sighing like a furnace, with a woeful ballad
Made to his mistress” eyebrow. Then a soldier,
Full of strange oaths, and bearded like a pard,
Jealous in honour, sudden and quick in quarrel,
Seeking the bubble-reputation
Even in the cannon’s mouth.

100. What do all men and women do ?
437 indulge in indoor games like chess, cards, etc.
(2) play outdoor games like football, cricket, etc.
(3) fight wars
(4) perform various roles in life
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101. ‘... their exits and entrances.....’
The figure of speech used here is :
(1) Metaphor 42y Personification (3)  Hyperbole (4) Simile

102. Why is the lover’s sign compared to a furnace ?
(1) He feels emotionally charged.  (2) He offers warmth to his beloved.
K 3" He is writing a ballad. (4) He gets angry very soon.

103. Identify the figure of speech used in the first line.
(1) Metaphor '(}’I Personification (3) Hyperbole (4) Simile

104. A school-boy :
(1) looks beautiful in the moming.  (2) likes his teachers.
/3 both (4) and (1) (4) s reluctant to go to school.

105. A soldier is jealous about his honour as :
(1) he is very sensitive about his honour.
(2) he is ferocious like a leopard.
(3 he wants to win at any cost.

(4) he is jealous of his enemy.

106. Which one of the following statements is NOT correct with respect to the given sentence ?
Sentence : Rhymes, songs and chants are ways for children to :
(1) memorize words and sentence structure.
(2) practise pronunciation.
[3Y" enhance expression and the rhythm of sentences.
(4) extend vocabulary.

107. Which approach/method doesn’t encourage learners to use their native langauge in a langua,

class ?
(1) Communicative approach (2) Direct method
(27" Audio-lingual method (4) Natural approach

108. Which one of the following is NOT true about using the library at the primary level ?
The library should not just be seen as a storage space for books, rather
(1) as an active environment for engagement with books.
(2) teachers and other adults can also model reading behaviour in the libraries.
43)  aread-aloud of the textbook can be best done in a library.
(4) learners can be exposed to a variety of genres of children’s literature.
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109. Literacy teaching approach that emphasise the relationship between letters and sound
: sounds is

110.

111.

142

113.

114.

P-l

(1) grammar translation (2) "sjfnational approach
jr?r)‘ phonics instruction (4) j!'u‘r:éhole language Approach
ey o
A student of class V says, “I give my work. a\f@al check for accuracy before Sabmic:
teacher.” The student is working at the ertg’lg-#age of : Mitting it ¢, the
(1)  Re-drafting (2) ij’Oof reading
3y Peer-evaluation 4) r-i”b'rafting

A third-grade teacher wishes to establish a reading corner in her class. In maj;,
for selecting a children’s book, which one of the following questions would be
be considered first ?

4 the judgem
most imponasptz
(1)  Are the books written for the independenﬁt reading level of most students in, the class ?

(2) Wil the books help address the goals of the third-grade reading curriculum ?

37 Will these books be appropriate for usei Il_“r—?more than one instructional context?

(4) Are the authors of these books well-kriown and respected authors of children’s literature ?

Which approach/method is geared towards t iieamer’s main goal of using language in a real-life

context ? i

(1) Communicative approach er D{rect method

(3) Audio-lingual method (4) Natural approach

A -teacher in cla‘ss IIT asked her learners to ask their partners five questions about their abilities
using the word ‘can’, e.g can you swim ? This type of activity enhances :

(1) Controlled oral practice £ Fr_'ee speaking

(3) Passive listening (4) @rél fluency practice

(1)  Elicit relevant rules of grammar.

(2" Provide practice in communication.

[LUG TS

(3) Learn grammar by memorizing its rules.

(4) Promote genuine communication.
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115. A teacher is planning to collect a variety of Teaching Learning Materials (TLM) for his class |
students. Which one of the following is NOT a correct criterion for choosing TLMs ?

(b The material chosen should provide adequate opportunities for the children to explore ap
experiment with curiosity.

(2) The material chosen should be preferably locally made or locally available, as this woyj
allow for easy replacement. Ny

(3)  The material chosen should be made by the chilggéﬁ only and have some rou
slipperiness. )

(4) The material chosen should be attractive and sa

ghness to avojg

feﬁor children of this age group to use.

116. A teacher asked the learners to exchange workbooks andcheck their partne (

of this task is to :

(I give practice in using new vocabulary.
(2) give controlled practice of structures.
(3) develop the skill of peer correction.

(4) give practice in extensive reading.

i ing when :
117. Children in the foundational stage are more engaged in learning

4  they use multiple senses and actively use their hands.
: 00KkS.

(2) thev trace or write letters repeatedly in their notebo

(3)  they focus only on developing fine motor Sklﬂ&:
(4) they sing rhymes after the teacher.
118. Which one of the following is NOT the principle fo : Egbook design at the foundational stage
" Presentation Principle (2) .
(3) Technology Principle 4)

119. To create an inclusive, welcoming and joyful enviroﬁﬁ-{éﬁt that supports every child’s participaty,
in achieving the competencies outlined in the National Curriculum Framework (NCF) can be b
done by : :

4 majorly focusing on the learners good health and well being.
(2) displaying children’s work from different domains of development.
(3) decorating the classroom for a colourful environment.
(4) conducting indoor activities and avoiding themfrom outdoor activities in scorching heal
120. Which one of the following should be mastered to bgglifcgrate ?
Y Sight vocabulary and pattern recognition. ="
2) Decoding and language comprehension. i

4)  Phonological awareness and fluency.

w
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PART -V
LANGUAGE - 11 : ENGLISH

IMPORTANT : Candidates should attempt questions from Part-V (Q. No. 121-150), if they have ‘
opted for ENGLISH as LANGUAGE-II only.

Read the passage given below and answer the questions that follow. (121-128)

But the Lion went into the forest anid found his own supper and no one ever knew what it was, for
he didn’t mention it. And the scarecrow found a tree full of nuts and filled Dorothy’s basket with th,ern
so that she would not be hungry for a longtime. She thought this was very kind and thoughtful of th;_'-
scarecrow, but she laughed heai'til}’ at the awkward way in which the poor creature picked up the nuts.
His padded hands were so clumsy and the inits so small that he dropped almost as many as he put in the
basket. But the scarecrow did not mind how-long it took him to fill the basket, for it enabled him to keep
away from the fire, as he feared a spark might get into his straw and burn him up. So he kept a good
distance away from the flames, and only came near to cover Dorothy with dry leaves when she Jay
down to sleep. These kept her snug and warm and she slept soundly by until morning,

When it was daylight, the girl bathed her face in a little rippling brook and soon after they all
started toward the Emerald city.

This was to be a wonderful day for the travellers. They had hardly been walking an hour when
they saw before them a ditch that lay across the road and divided the forest as far as they could see on
either side. :

121. “... she would not be hungry’.

The underlined word is a/an |
(1) Adverb (2) Conjurcion  (3) Interjection (4) Preposition

122. Study the following statements : -
(@) Dorothy was obliged to the Scarecrow.
(b) The Scarecrow vanquished hisjqnger with nuts.
(c) He gathered so many nuts that no one would remain hungry.
(1) (b) and (c) are wrong but (a) isTight.
(2) (c) and (a) are wrong but (b) is right.
(3) (a) and (b) are right but (c) is wrong.
(4) (a) and (b) are wrong but (c) is right.

123. Which one of the following statements is true ?
(1) He knows that the nuts are good for Dorothy.
(2) He shelled the nuts for Dorothy.
(3) Nuts mostly grow on bushes~.__
(4) Scarecrow is not caring.

124. Which one of the following statements.is not true ?
(1) Lion could not eat the nuts gathered by the Scarecrow.
(2) He decided to hunt his prey. == -
(3) Dorothy felt amused at the way.Scarecrow gathered the nuts.
(4) Scarecrow was afraid that th¢ Eion might kill him.

T

125. They kept her snug .

The underlined word nearly meansthe same as :
(1) messy (2) cosy (3) sordid (4) dizzy
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126. Study the following statements :
(@)  The Scarecrow gathered nuts as the tree was full of them.
(b)  He feared for his life so he got busy in gathering nuts.

(1) (b) is right and (a) is wrong,. (2):{Both (a) and (b) are right.
(3)  Both (a) and (b) are wrong. (4)-.__(a) is right and (b) is wrong:
127. No one ever knew whatitwas . )
The underlined is a/an c]ause}‘f"":‘; Sncibal
@) Noun (2) Adjective +#43) Adverb ) P

128. Which of the following statements is/are trive,?
(1) He helped Dorothy to keep warm at;ﬁ‘rﬁﬁjt.
(2) He kept the Lion away from Dorothy.—"
(3) Both (4) and (1). i '
(4) The Scarecrow was kind-hearted as he filled the basket with nuts.

4 : . (129-135
Read the passage given below and answer the questions that follow (th‘ L il s 1o bt
Usually the first question I ask a newbie birder is, “What do you thl:r s ) e
§ i ¢ : rour nose or any o !
'sical requisite to be a birder ? Your eyes, your ears, your . -
23 '51(;31 qtciwften the answer is “eyes”, but several do home into what is the most.lmpor;lant fa;UItY - at
least acnérrding ;0 me : your ears. Spotting birds in foliage is hard enough, but if you hear them, yo,
east, acc 50 -

R thel‘t"‘-ﬂ + morning, I realised it Wenlt much beyond that. The first bird cal]' [ heard as|

but ear]"’,‘: o2 O, \falk was the madcap rmgﬁféilaugh of black-rumped flameback, earlier known g,
ilit ﬂ;‘inc;;:-lgzc]?erdn:iroodpecker. It was a wild, equtant lafxgh that set the tone and n:)c;os nflr(;':ithe entire
day_gAnd then I realised that every bird call evokes a different reaction, memory on in the
hSteni:‘dian mynas, for example, invariably remmd me of people in Delhl-_aIWaYS r_eady to ar;g_ue ang
pick a fight, belligerent and in your face. Yet, they taught me not to make sweepmg_ger;ei-a isations
because when a pair perch on the window sill in the afternoons, t!‘fey ha.we meaningful civiliseq
conversations with each other. There is inquiry; humour and affection n their voices.

129. ‘The first bird call I heard asIleft the house..."
The underlined isa/an _____ clause. i s,
(1) Noun (2) Adjective (3) Adverb ' (4) Principal

130. ‘It was a wild exultant laugh...”
The underlined word is a/an . :
(1) Verb (2) Adverb (3) Adjective (4) Noun

131. ... belligerent in your face.’

The underlined word nearly means the sam&ﬁs :
(1) noisy (2) musical == (3) different (4) hostile

132. Study the following statements : =
(a) The writer approves of the conduct of: e lhi pepple.
(b) Indian mynas are generally known for their noisy quarrels.
() A myna couple can also be found enjoying themselves.
(1) (b) and (c) are right but (a) is wrong=_
(2) (a) and (c) are right but (b) is wrong:
(3) (a) and (b) are wrong but (c) is right.
(4) (a) and (b) are right but (c) is wrong.
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133,
134.

135.

136.

137.

138.

139.

140.

141,

P

Why should a birder have sharp ears ?

(1)  The birds greet each other with their morning calls.

(2)  One can easily locate them from their chirping.

(3)  Their shrill shricking can tell one that they are in danger.

(4)  One can easily distinguish their mating calls.

Study the following statements :

(@)  Different chirpings of birds evoke different emotions in a birder.
(b) Sometimes birds make their nests hidden from public view.

(1) (b) is right and (a) is wrong, (2) Both (a) and (b) are right.
(3) Both (a) and (b) are wrong, (4) (a) is right and (b) is wrong.
Who is a birder ?

(1) one who watches the birds (2) one who rears the birds

(3) one who hunts the birds (4) one who catches the birds

One of the best way to learn a second language is :

(1) by constant contact with native speakers in their own society.

(2) by repeating and practicing the dialogues as done in the audio-lingual method.

(3) by joining a speaking course for the target language.

(4) Dbeing in a classroom where you can focus on the grammar and receive help from a teacher.

A big challenge in learning to read is finding motivation and good children’s literature. To overcome

this challenge :

(1) Encourage parents to establish a small library at home.

(2) Provide easily accessible Children’s literature to motivate and generate interest in reading-

(3) School authorities must take learners to book fairs to generate motivation and interest in
reading books.

(4) Teachers should motivate them to read a book everyday as homework.

A teacher asked the students of class V to read the story quickly and then put the four pictures in
order. The purpose of this activity is to :

(1) give them practice to reading for the gist.

(2) give them practice in reading for specific information.

(3) revise the new and difficult vocabulary of the story.

(4) arrange the picture cards.

To assess reading skills at primary level a language teacher should most importantly focus on :
(1) use of punctuation mark. (2) reading at a proper speed.
(3) reading with understanding. (4) identifying the letters of alphabet.

A good speaking activity is the one during which :
(1) learners listens more

(2) learners talk more
(3) participation by outspoken students is the maximum

(4) teachers explains more

Assessment tools and processes at the foundation stage should be designed in a way that :

(1) they become a natural extension of the child’s learning experience.

(2) learner’s progress is described and analysed with that of the overall class performance.
(3) a teacher may use common single method to assess the achievement of all the learners.
(4) explicit tests and examinations become appropriate for learners.
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142.

143.

144,

145.

146.

147.

148.

149.

150.

Along with print books and audio ile abiliti |
should be appart of the classroom m:::: ? books that engage the tactile abilities of young children
(1) it gives autonomy to teachers to use different books for assessment.

(2) it makes books more accessible to diverse learners.

(3)  these books will not overly burden a teacher.

(4) 1t brings variety to the class and children love variety.

”Lnguage learning is an intensive process that begins at birth and continues throughtott e
Do you agree or disagree with the above statement ?

(1) I disagree with this statement.

(2) 1 partially agree with the statement.

(3) I partially disagree with the statement.

(4) I agree with this statement. |
mount of work is done in theij;

Learners are memorising grammar rules and vocabulary and large 2 : age {4dd 7
mother tongue. Which method is being used by the teacher into h;f' angu
(1) Natural approach (2) Communicative teaching

(3) Grammar Translation (4) Direct method

Children’s cognitive development and language :
(1) is that an individual is born with a tool to mas
2) development bear no relationship. e N e e
ES; is closely related to the culture and the community m thllcg ; rcl)cess Attt
(4) 1s related to the principle of linking stimulus-response atl

ter the language.

Whole language approach is :

(1) Skill based

(2) Blends sounds / .
(3) Infers a sound-symbol relationship

(4) Meaning based

If children hear two languages spoken around them,
(1) put the children at an advantage.

(2) not make any difference to the children.

(3)  confuse the children, hindering understanding.
(4) put the children at a disadvantage.

This reading has certain learning aims and tasks,
with concentration and due care, It is called :
(1) Intensive reading (2) Guided reading
(3) Pleasure reading (4) Extensive reading

At the beginning of the lesson, a teacher divided the class into groups and asked them to talk about
an interesting newspaper article that they had just read. This type of speaking activity is for
enhancing :

(1) Controlled oral practice. (2) Guided oral practice.

(3) Active listening. (4) Oral fluency practice.

The students learn patterns of language by repeating model sentences that the teacher provides.
They memorise set phrases and receive positive reinforcement from their teacher when they perform
the drills correctly. The teacher is using the :

(1)  Communicative approach (2) Total physical response

(3) Structural approach (4) Audio-lingual method

this exposure will :

learners are supposed to read the text in detai
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